Total No. of Questions : 12 | [ Total No. of Printed Pages : 8

SLC-243

B.Com. Part-III Due of Part-II (Supplementary)
Examination, 2022

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - I

(Financial Management)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries
2 marks.
(@ue-3) 3k : 2 x 10 = 20)
e - wff T8 T B SW T (S-S 50 ) | YAF U 2 3HF T
Section-B (Marks : 8 x 5 = 40)
Note .— Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(Tus-9) (37F : 8 x 5 = 40)
e - mgﬁ'ﬁ%lﬁagﬁ%wﬁm (IW-HA 200 ¥1%) | TR Y 8 FF
<l =l
Section—C (Marks : 20 x 2 = 40)
Note .— Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(TUe-w) 37k : 20 x 2 = 40)
qE — IR H G FR S I & SW S (SW-T 500 IEE) | THw T 20 SF H

T
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Section-A
(Tus-3)
I. @ Explain the meaning of Finance.
fog =1 o1 smwET)
(i) What do you mean by Current Ratio ?
o] ST ¥ 3T F TEEd ¥ 2
(ii1)) Explain the concept of Operating Profit.
R MY S UROM S T RIS
(iv) What do you mean by Cash Flow Statement ?
Uehe Yo faeo § 19 =0 999 & ?
(v)  Explain the meaning of Financial Planning.

foxita fEeH =1 319 s@aET)

(vi)  What do you mean by Profit-Volume Ratio ?

YA STIE § 3T T TES 2

(vii) Explain the concept of Inventory Control.
- T 1 STTHRON ] T FHIC |

(viii) What do you mean by Retained Earning ?
wfaenfi oS | oMY o W § 2

(ix) Explain the meaning of Capital Budgeting.
STt ofed 1 e sy

(x) What do you mean by Dividend Policy ?
e fifg ¥ oY F= T § 2
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Section-B
(Tue-9)
2. Explain the importance of Analysis of Financial Statements.
ot faaRo-=ii & fagermm @1 7ea ARl 2+2+4=8
3. Calculate Current Ratio and Liquid Ratio from the following information :

frefafea gemel ¥ =1 ST Td Ta STUM i AT Hif

Q)
Debtors 30,000
Bills Receivables 20,000
Inventories 15,000
Short-term Investment 10,000
Creditors 20,000
Bills Payables 10,000
Bank Overdraft 12,000

4. Compute : (i) Contribution, (i1) Variable Cost, (iii) Fixed cost and (iv) B.E.P. in
rupees : Sales in ¥ 2,50,000, P/V Ratio 37.5%, and Profit ¥ 12,000.
AT SHIST (1) SeH, (ii) TRed=eie @, (iii) fer o qen (iv) ¥9-fa=x foag

(Fwd #): faga T T 2,50,000, G- I 37.5%, q&n @9 T 12,000 |
242+2+2=8

5.  Akshita Limited buys an item in a lots of 3,000 boxes which is equivalent to its
three months consumptions. The price per box is ¥ 100 and ordering cost per
order is ¥ 2,400. The annual inventory carrying cost is estimated at 10% of cost

of inventory. Calculate EOQ.
stferar fafaes 3,000 fessii &1 O 9&® aR % A ¢, S STH! dF TE R

STITAHAT & IR ¥ | T fesd 1 gog T 100 T I&F 3T <7 HT aAFmd T 2,400
T | T ] T i dfbeh TN b= Sl ANTd 1 10% € | STYer el |1 A hifswl 8§
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6. The following are the details of two projects. Select the best project using pay-

back period method of capital budgeting :

Projects
(A) (B)
Initial Investment < 1,00,000 3 1,40,000
Economic Life of Project 10 years 12 years
Estimated Scrap Value % 10,000 % 20,000
Annual Profit after Tax < 10,000 3 12,000

3 afrsstt it Freafafea gemel § It ated &t qAfmam srafy fafa & v &
U A3 IRASH &1 =99 HIWT

RS
(3) C)

IRt ot % 1,00,000 % 1,40,000
RS T SfereRTe 10 =i 12 =
FIAIG STase Hed % 10,000 < 20,000
T T qYER AIE AN % 10,000 % 12,000

4+4=8

7. Write short note on Walter’'s Model for determination of value of Shares and

Dividend.
T S AT B Hed FruRe & g Atew W dfva feuoft fafe ) 2+4+2=8

8.  The current market price of a company is ¥ 144 (face value ¥ 100). Company can
issue new equity share at ¥ 135 per share by incurring ¥ 1.50 per share floatation
cost. The current dividend rate on these shares is ¥ 24 per share which grows at
the rate of 8%. Compute cost of (i) Equity Share Capital and (i) Retained

Earnings.
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T FEA & 3 100 Afohd goI aTel HHAT TR 1 IAHM SR qed ¥ 144 T HEAT
Hfa 371 % 1.50 F7A9 =99 X T8 |9ar &9 % 135 9fa o7 &t 0 R fFifaa T ded]
¥ IO B TAEE NN T T 24 UfA FHAT S T, Sk 8% HI R ¥ FGAM ¥
gfRehfera HITT @ (1) P i FHaT S9N i @ aen (i) e w1 gfaenia st @t
AT | 4+4=8

Or
(3=

Write short notes on the following :
(1) Bonus Share
(ii))  Financial Forecasting
frafafea w wfyw feoafrr fafew -
() =g e
(i) for et

Section—-C

(TUs-7)

9. Define Financial Management and explain its scope and importance.

faxitar werer @1 aRenfog wIfST don 59 & T3 98 &1 9 HifST 4+4+12=20

10. The following informations are given about PCB Ltd. for the year ending March

31, 2022 :

(1) Stock turnover Ratio (Based on cost of sales) 6 times
(i1))  Gross Profit Ratio on sales 20%
(iii)  Sales for 2021-22 % 3,00,000
(iv)  Opening Creditors % 20,000
(v)  Closing Creditors % 30,000
(vi) Trade Debtors at the end T 60,000

(vii) Closing stock is ¥ 10,000 more than opening stock
(vii)) Net Working Capital % 50,000
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Find Out :

(1) Average Stock

(ii))  Purchase

(ii1)  Creditors Turn-over Ratio
(iv)  Average Payment Period

(v)  Average Collection Period

31 |rd, 2022 ® TG 98 & forg dLEer. fafiee & eR # frefated geemd <

g

() T TEd oTuE (faia ¥ &1 @F| & STER W)
(i) FPha Y UM Tl ™

(iii) ad 2021-22 & fa& fosmt

(iv) URfNE THER

(v) sifad ©MeR

(vi) o H IR

(vi)) WRfwsw wiw § sifm =Tk #1 gea T 10,000 ek 2

(vil) Y5 e e

A aﬁl%rq :
()  Ha wh
(i) w4

(iii) TSR oT&d STd
(iv) ofea e swafy
(v) oiEa SURw stafy
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20 wfaer
% 3,00,000
% 20,000
% 30,000

% 60,000

< 50,000

5+5+5+5=20
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11. The Modern Machine Company Ltd. places before you the following figures :

Tied wor fafaes 3 omue fau fFefafen sfee w&=ga &3 € .

Year Sales in (3) Profit in (%)
2020 2,00,000 10,000
2021 1,80,000 2,000

You are required to calculate :

(1) Expected profit when sales is ¥ 3,00,000
(ii))  Profit-volume Ratio

(ii1)) Break-even Point in rupees

(iv)  Fixed Cost

steRt Frefafea &t ToFm wE ¥

(i) ¥ 3,00,000 =t Tkt X wEaIfad oy Al

(1)  Y-HEAT U

SN

(i) wm-fa=xg fog (F03 #)

(iv) feer g S5+5+5+5=20

12. From the following informations of a company, compute the operating cycle

period and working capital required :

(1) Period covered 365 days
(i1))  Average period allowed by suppliers 16 days
(ii1)  Average total debtors outstanding 3 48,000
(iv) Raw material consumed % 4,40,000
(v)  Total production cost % 10,00,000
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(vi) Total cost of sales % 10,50,000
(vii) Sales for the year % 16,00,000

(viii) Value of average stock maintained :

(@) Raw material % 32,000
(b)  Work-in-progress % 35,000
(c)  Finished goods % 26,000

T HFA St FrAfafed gemel & aRee o% & Tavds wrEsia gsi i TomE

HifST .

sMyfiderdtell g1 Wed oi9d IUR oTafy

(i) @ty

(i)

(iii) i HA THA TR

(iv) h=d A H1 ITHM

(V) A SHET ARTq

(vi) fowa &t g @ra

(vi) =9 & <RA fawa

(vii) sfE@ @ # g
(1) e °id
() wE-T W
() faffa A
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365 fe

16 fea

% 48,000

3 4,40,000
% 10,00,000
% 10,50,000

X 16,00,000

< 32,000

< 35,000

T 26,000 15+5=20
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